Cingle Digit Addition

Working Mathematically
4 + (0 =
b 1588
+ =
/ 9 — ||| There are 6 apples in one box and 7
7 +9 = in another. How many apples are
— there altogether?
+ ~
7 +1 = ||,
5 +7 =
1 +0 =
- Jane has 7 balls. Tony has 5 balls.
8 +3 = How many balls altogether?
4 + 4 = 3) There are 7 girls and 9 boys in
class 2Red. How many children in the
4 +8 = class?
4) Tracey bought 6 red socks and 8
1 +0 =
= p— blue socks. How many socks did she
buy?
7 +4 =
5) In our pencil tin there are:
4 +3 = — 9 sharp pencils
9 blunt pencils
5 +2 = . .
How many pencils are there in
9 + 3 - the tin?
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